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0ObIkHOBEHHbIE AN0G

Uﬂx
2 15 77 81 16

5§ 20 67 6 9




San0NHUTERADNHIIY

a 2 86 43 0
5 126 165

b 1 11 100 11

5 126 165 | 89

a+b 3 | 97 143 | 11

5 126 165 | 89




w 38  PelWTb ypaBHEHUS:

2)a- 5 = 11
19 19
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3) 49 -y = 41 8 6 28 48 16 0 27
144 1& 144 19 77 233 19 38

77 17 Omeem: KOPEHb

6) 144 - c =144
183 183



Bobluncnurte nepumeTtp
¢on3KynbTYypHOro 3ana ecnu
ero wupuHa pasHa 16 m,
apgnuHa - 3 OT LUMPUHDI.
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P=(at+b)-2

PeweHue:
1) 16:4 -3 =12 (m)
2) (16 + 12) » 2 = 56 (M)

OT1BeT: P= 56 m.
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NnonTuHa TpeTb yeTb NATMHA cedbMMWHa
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